EARAROBREBRT —5 XN—ZXBISH—F

20224688268 (&) 8EEHH

il o S EHS | EERELHES C9 S5 BRI
[AXE%] 1 &:300,00 M  2&:90,00H  3#&:4500H  437%:30,000H 53 :15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o < s BREth : -2-2- - HERIGER (FEH)
1155 l:“.l/’\“.l:E/g 4 56.0% 1.(??).5 2-2-2-1 37.9 3 (4_527) 1(*%) e N
RANTI—TIN B:IL—VATIIR Wl SrE
N N BANES . _3-3- — BEHEIES (55)
5 3| PAEYTST Y5 *55{.0 1.(371).9 6-3-3-3 | 39.1 2 :1_333) e i\
RiN—EVIv— BTV F4T FERS
DY > 5 | HIERES— 1:32.1 4-5-5-5 [39.1| -— 1 468 | BERIEED (S5HL)
3|7|7|¥oNWIA3T 5.0 M (5 | LIOBEAEE
RIN=VISA B:F—AIUY FPAFAT7—L
=3 L 5 | RIEY 1:32.4 5-6-6-6 |38.6| -— 5 398 | HOMEE (824)
N . NES D2 £ a1 %7 o |=EEE
RVEWDA— BISVYYITFS WA FE
<~ sy HIE— : -1-1- - BEHIES (55H)
N BEAICrE i 5 Al 1.(322).5 1-1-1-2 | 40.3 4 :1323) ML A
Rib—trIa—sy B:HYIUIILNIR—=)L im0
S S S =)iE :33. -4-4- . - HIEEER (511
611111 FYvvavIY 5 250 LR | et @2 6 fff) LOE—85
RiISVFURR 8B:1—-T—<AY RS
3 6 | #H)IIESE 1:33.8 7-7-7-7 | 39.4| — 7 463 | BEHIES (%)
72| FYY LTS * #55.0 3 Gy | @ Ir—2hevay
RiFvINAO— BYISIYT5rZ— LIEBHUS
@ 1—F—&RIEL
13—7+— 6,5,1,7,4,3,2
230—F— 6,5,3,1,7,4,2
30—7F— 6,5,3,1,7,4,2
40— — 5,6,3,1,7,4,2
o ILRE
BB 5 480M4 JA R 3-5 270/ 5 & 3-5 900/ 3EE 3-5-7 500/
B B 5 290M 5-7 1909 =51 53 1,780 3EH 537/ 4,100
3 150/ 3-7 1509

ABIC OV TRUTEREERRODDZE. THRIIZEL.




